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The ﬁgures in the margin indzcate
full marks for the questions.

Answer either ir English or in Assar_nese. .

‘ 1 - Answer the followmg questmns 1x7=7 .

. (a) What is the value of ionic product of
water at 25°C ? a

25°0m@ﬁﬁamﬁwmmﬁm?
N (b) Name one reducmg dlsacchande .

«ﬂﬁﬁ@t@ﬁ‘mﬂwﬁlﬂn

-

Contd.



(c) Write the mathematical expression of

Claiusiﬁs -Clapeyron equation:
W@vﬂa«f AT mﬂ% oo aﬁm
Cfratr

() _"Out of formlc acid and acetic acid which
one Would you expect to react Wlth'

| ’I‘ollen s reagent ?

Wﬁﬁseﬁ@waﬁ%aﬁmﬁm—m@m, .
(e) ~.D;a,wv~the prinia:y,stn.'tct‘ure of protein. |
- effber e St B it
(fl The Gibbs’ phase rule is
'Wmﬁi’r%c‘m’a -
() F"=C-P+1_.
i) F=P-C+1
(i) F=C-P+2
(i) F=P-C+2
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(g) Wthh one -of the followmg amlnes w111
not show carbylamine test ?

w@maﬁmﬁm@wemm ?
() CH,NH,

(i) 'CHSC_JHzNHz

(i) (CH3),NH

(i) (CH),CHNH,

2. . Answer the following qﬁestions in 2x4=8 -
| wfﬁm ePICIIT T fral 8

‘(a) Write the number of phases and number'

'of components present 1n the followmg
.system : :

Wﬁmm mw\ﬂnw@mw MY
. forars | :
YOS Nz(g)+3H2(g)~—2NH3(g)

(u) Solution of acetlc acid in water

Wﬁﬁ?ﬁﬁinﬂﬁ@m

(b) ',_How does the molar conduc:tiv'ity-of a
~ weak electrolyte vary with dilution ?
Explam
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vEﬁﬁﬁaﬁﬂasazﬁﬁﬁﬁﬁkﬁﬂhﬁﬁﬁ9ﬁ%ﬁﬁﬁﬂﬁﬁﬂg
FeAR =g A | SRR

- 4A(c) How would you convert p—pitroben;oyl
chloride to p-nitrobenzaldehyde ?

- Towes T SR

~ and K, values. Why ? | |
- ofi BT K, i K 3w e < R g

‘3. Answer the folloWing questions : (any three) -
' o 5x3=15

.'Gﬁﬁﬁ%ﬁeﬁmﬁaﬁﬁﬁﬁﬁﬁsC@ﬁﬂyﬂﬁﬁﬁﬁg

(@ What is tertiary structure of protein? - -

Mention different types of interactions
involved in tertiary Structure of protein.
‘ | 1+4<5

B aﬁ«mmﬁswmm@amﬁs

ﬁ%w«mwﬁnuaﬁEm:ﬁamm¢?;

(b) Draw and explain the phase diagfafn of

water system. Why is the phase diagram
- of water system different from that of
" other one component system.
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- (&) Amino acids Have exceptionally low K,

. 242+1=5



TreTeRd ekl o o gt 3t | iR @
TAYE ST TeToa AT Ba 72 [we

(c) Give five points each of similarity and -
dissimilarity. between glucose and
-,fructose

zgs’wm;ﬁ’%ﬁvﬁmmwm
o

- {d) ’Explain the principle of conductometric - -
- titration of a strong acxd vs. strong base. -
Sl WF-SiF FIIT MR Wﬁ@m SRR
| @%WWI |
© (e) At 25°C, the specific conductance of
carefully distilled water is 58.0x10-" Snr!
and the A°m values for H* and OH- ions
are 349.8x10 Sm?mol! and 198.5x10+
. Sm2mol! respectively. Assummg that A
differs very little from A° , calculate the
ionic product of water at 25°C ]
25°C @Wﬂﬁwmﬁ@wﬁaﬁﬁ@ |
| ofRARTR I 58.0% 107 St [SIGHT H SIS OH- -
SRR A°_ - S TIFCH 349.8x 10~ Sm2mol-
% 198.5%10 Sm?mol” | FM A, SE A J
T T A A1 AP (T 25°C. m@
» WWWWWWI -



I

" 4. Answer the followmg questlons (any three)

., 10x3=30
fTﬁmW%@aﬁm (Rt ff61). ..

" (@) Discuss how the primary structure of
: peptide is determined.

| "cﬂﬁﬁmmﬂﬁmmﬁmﬁcﬁwmwf
= -

(b) . (i) Explaln a method of conversion of
' - glucose into arabinose. - 5

,%W@wﬁﬂ’@ﬁaﬁwwmw :
) S '

(i) Howis benzened1azon1um éhlonde .
prepared ? How is it converted to

benzene, phenol and p-hydroxyazo
o benzene?> . 2+3=5

| RR wiRarfam Eﬁﬁ@ﬁima@f
AR g (AR, B o po
ﬂi‘@’@mﬁﬂﬁmﬁm—@aﬁww |
Eul

| () Discuss the mechanlsm of the following .
’ conversmns ' - 5x2=10

. ® Tﬁmmm@awmﬁﬁwmws '
(i) Benzaldehyde to cinnamic acid -

@Wﬁqmmﬁaaﬁ@cﬁ
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(u) Acetam1de to methanamme '
iR ﬁzwfia?a

+(d) What is eutectic pomt'P DraW and
~ explain the phase diagram of Pb-Ag

- system. Write two uses of eutectic
mlxtures : 1+(3+4)+2 10 -

Wﬁ'ﬁﬁ?? Pb-Ag WaF AR oo i

(e} (i) What ismeant by transport number
: of an ion ? Explain the method of .
its determination by moving

boundary method. . = 2+5=7

R AR L S @ B
ﬂﬁﬁﬂwwmﬁﬁwmm

Rall

(ii) A moving bounda:y expenment was.
- ¢arried out with 0.01M solution of
".KCl (specific conductance = 1.29
Sm!) using CdCl, as the indicator

electrolyte. A current of 5.21 mA

was passed through the tube of

' 0.230cm? cross-sectional area. It .

- -was -observed that the boundary
moved through 4.16 cm in 1h.
- Calculate the mobility of K* ion.:
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'CdCI;}F 55 Rige, Ry ROI a2
~ 39 0.01 MapeR KClwa (R sifkaifzel

= 1.29 Sm') 513 borw AR A -

| e T (R ARG 0.230em?
- CRERIfeT MO 5.21 mA SR GIfe 71
tzfest | TR TS qF T ARRIR

4 16m@%?€ﬁﬁl|ﬁ3wﬂﬁaw

- K* SIEAS F5erel St 3| =

(ﬂ Deflne critical solutlon temperature
. What do you mean by upper critical
solution temperature and lower critical
solution temperature ? Explain the
phenol-watér bmary system. Explain the
- effect of impurities on critical solution
temperature. 1+2+5+2=10
- I T Sade et fimt | 66 PR T3
- mmﬁwmf@asmwmq%m%qw
ReeT-AIR S siice o <l 741 | iR T

y @Wﬁewwﬁﬁ MWWI
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